





The following is the classwork and homework

Algebra Il Support

r

A= l’(l +£) + Where P is the principal, r is the rate of interest, n is
the length of the investment.

A=Pe" where P is the principal, r is the rate of interest, and t is th

1. Ron invested $55,000 in a nine-year CD that pays out twelve per
is the amount after fifteen years? o

2. Rick has a savings bond that will be worth $8,220
' 5% that is compounded semiannually. Find the



rate of r = 12,howmanydaysudlllthkemeaMto
= # of cells at end, r = rate, t = time in days.)

5. James has a savings bond that will be worth $
rate of 20% that is compounded semi-annually. |

6. If $2500 is invested




